2022—2023 ¥ F % —F M R 20N K&
NERHFSEER

WA

Ldn RFAMAEL RAE L ERAN M ERE  TAIEIAR G B % 00 5F 547 E AT D

2. 7 MR A H RS AR B R R B A R MR A s IR M T AT KRG IR e R F
AR —F B ILARIR YR E B R AT R0 N A R ALY R 6 AR ok R G @
) %0 AR M ERA TG GRS A 5 B

3. ARE T e RAF R LY A Rt o,

4R, RS K M.

—JEFEE: (S 3 5,430 )

LB 2.D 3.A 4C 5B 6D 7.B 8D 9.B 10.C

ZVEEE(BMES S, H 15 5)

11. —1 12. (x*2)213.% 14.16 ]5'2574

S REB:(HF 75 4)

16. (# 10 43,4 5 40

(D JFET =101 X (1022 98%) verrerrrresurtumttaie ittt e e e e e s | A
=101 X (102498) (102 — 98) wrrrrenrrnrarenereeitiniiiiiiiiniieiiiiieieieiei e 3 3
=101X200X4

(2)"2m=3,2"=5,

o)

17. (8 ) R = (22 Fdaytdy? 27 — 43P ) =20 covveeerrerenii e 2
= (2224 ay) 2 ser e e e 4
Y r=—2,y=—3H,

AL
100

80

60 50

40
40 30
5 1]

wE IR OME R

+
JAEGR AR 51 iUk 3 7D



(320,

19. (9 4 (1) AC//DE. /ACB=_/DEF,
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